
160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 

     Restroom Compartment Hardware 
Door Hardware - ( Hinges, latches, Etc. )  Pilaster Mounting Hardware  
Powder Coated Steel / Stainless Steel ( pg. 2 - 5 ) 
Plastic Laminate  ( pg.  6 - 7 ) 
Phenolic  ( pg. 8 - 9 ) 
Solid Polymer  ( pg. 10 - 13 ) 

Powder Coated Steel / Stainless Steel  ( pg. 35 - 38 ) 
Plastic Laminate 
Phenolic  
Solid Polymer  

Wall Brackets Misc. 
Powder Coated Steel / Stainless Steel  ( pg. 14 - 24 ) 
Plastic Laminate   ( pg. 25 - 29 )  
Phenolic   ( pg. 30 - 34 )  

Headrail  ( pg. 39 ) 
Flat Strike Kit  ( pg. 40 ) 
Post Shoe Kit   ( pg. 41 ) 



# Description 

1 Strike/Keeper 

2 Bottom Hinge with Pintle & Cam Box 

3 Top Hinge w/Bushing & Top Hinge Pin 

4 Hook/Bumper 

5 Male & Female ADA Knobs 

6 Door Pull with Fasteners 

7 Wall Bumper with Fasteners 

8 1-1/4” Shoulder Screws

9 5/8” Barrel Nuts 

100 #10x5/8” Hook/Bumper Fasteners 

11 1/2” Shoulder Screw for Knobs 

50-8511515 ADA HARDWARE KIT GRAVITY HINGE—CHROME PLATED
50-8261515 ADA HARDWARE KIT GRAVITY HINGE—STAINLESS STEEL

HOME 

6 

11

5 

6 
7 

1 

2 

9 

3 

8 

10
4 

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 

jstewack
Typewritten Text
Page 2 of 41                                                                                                 Rev. 06/13

jstewack
Typewritten Text



HOME 

# Description 

1 Strike/Keeper 

2 Bottom Hinge with Pintle & Cam Box 

3 Top Hinge w/Bushing & Top Hinge Pin 

4 Hook/Bumper 

5 Male & Female STD Knobs 

6 Shoulder Screws 

7 Barrel Nuts 

8 Hook/Bumper Fasteners 

9 Shoulder Screw for Knobs 

50-8511505 STD HARDWARE KIT GRAVITY HINGE—CHROME PLATED
50-8261505 STD HARDWARE KIT GRAVITY HINGE—STAINLESS STEEL

9 

8 

7 
6 5 

4 

3 

2 

1 

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 

jstewack
Typewritten Text

jstewack
Typewritten Text
Page 3 of 41                                                                                                   Rev. 06/13

jstewack
Typewritten Text



Zamac  
50- 8511500

Stainless Steel   
50- 8261500 Description Qty. 

1 50-2517200 50-2267200 Hinge Top Pilaster  1 

2 50-3986600 50-3986600 Nyliner for Top Hinge 1 

3 50-3480015 50-3480015 Top Hinge Pin w / Clip 1 

4 50-2517300 50-2267300 Hinge Bottom Pilaster Bracket 1 

5 50-2511380 50-2261380 Standard Knob 1 

6 50-2511390 50-2261390 Escutcheon Plate 1 

7 50-2514260 50-2264003 Bumper and Coat Hook 1 

8 50-3980700 50-3260700 Theft Resistant Step Bolts 1-1/4” Long 6 

9 50-3980690 50-3260690 Theft Resistant Barrel Nuts 5/8” 6 

10 50-3910170 50-3260710 Theft Resistant  S.M.S. #10 x 3/4” 3 

11 50-2511530 50-2261530 Concealed Latch / Stop and Keeper 1 

12 50-3113810 50-3113810 3/8” - 16 x 1” Hex Head Cap Screw 1 

STANDARD STALL ( NON ADA ) - DOOR HARDWARE KIT   
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS  

2 

5 

11 

3 

4 

1 

7 

12 

9 

8 

10 

6 

HOME 
Page 4 of 41 Rev. 06/13 

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



ADA - DOOR HARDWARE KIT  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

Zamac  
50-8511510

Stainless Steel 
50-8261510 Description Qty. 

1 50-2517200 50-2267200 Hinge Top Pilaster  1 

2 50-3986600 50-3986600 Nyliner for Top Hinge 1 

3 50-3480015 50-3480015 Top Hinge Pin w / Clip 1 

4 50-2517300 50-2267300 Hinge Bottom Pilaster Bracket 1 

5 50-2511370 50-2261370 ADA Paddle Handle 1 

6 50-2511390 50-2261390 Escutcheon Plate 1 

7 50-2514260 50-2264003 Bumper and Coat Hook 1 

8 50-3980700 50-3260700 Theft Resistant Step Bolts 1-1/4” Long 8 

9 50-3980690 50-3260690 Theft Resistant Barrel Nuts 5/8” 6 

10 50-3910170 50-3260710 Theft Resistant  S.M.S. #10 x 3/4” 3 

11 50-2511530 50-2261530 Concealed Latch / Stop and Keeper 1 

12 50-3113810 50-3113810 3/8” - 16 x 1” Hex Head Cap Screw 1 

13 50-2511700 50-2261703 Door Pull  1 

14 50-3981000 50-3981000 Bumper EVA Natural 1 

15 50-3980441 50-3260441 Theft Resistant C/P #12 x 1-1/2” S.M.S. 1 

16 50-3080000 50-3081000 Plastic Anchor - Red 10 - 12 x 1” 1 

7 

14 

2 

16 

9 
3 

12 

4 

1 

8 

6 

10 15 

11 
5 

13 

HOME 
Page 5 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



INSWING DOOR HARDWARE KIT 
  PLASTIC LAMINATE PARTITIONS  

Zamac  
40-8512003

Stainless Steel  
40-8262003 Description Qty. 

1 40-2512800 40-2262800 Hinge Pilaster Bracket  2 

2 40-2512810 40-2262810 Door Hinge Insert 2 

3 40-6082410 40-6082410 Hinge Pintle Nylon 2 

4 40-6082400 40-6082400 Hinge Cam Nylon 2 

5 40-2512620 40-2562620 In-swing Latch Slide Keeper 1 

6 40-3912420 40-3912420 Hinge Pin  2 

7 40-2511600 40-2561600 Bumper and Coat Hook 1 

8 40-3910110 40-3260110 Theft Resistant  SM #10 x 1” Flat Head 2 

9 40-3910600 40-3260600 Theft Resistant  Step Bolt 1” Long 2 

10 40-3910690 40-3260690 Theft Resistant 5/8” Barrel Nut 7 

11 40-3912130 40-3262130 Theft Resistant  SM #10 x 5/8” 2 

12 40-2513900 40-2563900 Slide Latch 1 

13 40-3910700 40-3260700 Theft Resistant  Step Bolts 1-1/4” Long 5 

HOME 

7 

12 

9 

5 

4 

11 
6 

1 

2 

13 

10 

3 

8 

Page 6 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Zamac  
40-8512004

Stainless Steel  
40-8262004 Description Qty. 

1 40-2512800 40-2262800 Hinge Pilaster Bracket  2 

2 40-2512810 40-2262810 Door Hinge Insert 2 

3 40-6082410 40-6082410 Hinge Pintle Nylon 2 

4 40-6082400 40-6082400 Hinge Cam Nylon 2 

5 40-2512710 40-2562710 O/S Keeper 1-1/4” 1 

6 40-3912420 40-3912420 Hinge Pin 2 

7 40-2511600 40-2561600 Bumper and Coat Hook 1 

8 40-3910110 40-3260110 Theft Resistant SM #10 x 1” Flat Head 2 

9 40-2511710 40-2511710 Bumper Out Swing 1 

10 40-3910690 40-3260690 Theft Resistant  5/8” Barrel Nut 7 

11 40-3912130 40-3260690 Theft Resistant  SM #10 x 5/8” 4 

12 40-2513900 40-2563900 Slide Latch 1 

13 40-3910700 40-3260700 Theft Resistant  Step Bolts 1-1/4” Long 5 

14 40-2511702 40-2511702 Door Pull Chrome Plated 1 

15 40-3910800 40-3260800 Theft Resistant  Step Bolts #10 - 24 x 1  2 

OUTSWING - DOOR HARDWARE KIT  
  PLASTIC LAMINATE PARTITIONS  

HOME 

9 

5 
7 

12 

3 

4 

8 

10 6 

1 

2 

11 

13 

14 

15 

Page 7 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



OUTSWING DOOR HARDWARE KIT  
PHENOLIC PARTIONS  

Stainless Steel  
40-8571006 Description Qty 

1 40-2562820 Vault Hinge Top Pilaster  1 

2 40-2562830 Vault Hinge Top Door Side 1 

3 40-2562850 Vault Hinge 1 

4 40-2562840 Vault Hinge Bottom Pilaster 1 

5 40-2563900 Slide Brushed Finish 1 

6 40-2562740 Outswing Slide Latch Keeper 1 

7 40-2511700 Pull Handle 1 

8 40-3260700 Tamper Resistant S/S Step Bolts #10-24 x1-1/4” 2 

9 40-2561600 Bumper and Coat Hook 1 

10 40-3260600 Tamper Resistant S/S Step Bolts #10-24 x 1” 8 

11 40-3260750 Tamper Resistant S/S Step Bolts #10-24 x 3/4” 1 

12 40-3260590 Tamper Resistant S/S barrel Nut #10-24 x 1/2’ 8 

13 40-3262130 Tamper Resistant S/S #10-24 x 5/8” 4 

14 40-3260690 Tamper Resistant S/S Barrel Nut #10-24 x 5/8” 1 

15 40-2511710 Bumper 1 

1 

2 

6 

7 

4 

12 

10 

13 

5 

15 

9 

3 

11 

8 

14 

HOME 
Page 8 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



INSWING DOOR HARDWARE KIT  
PHENOLIC PARTITIONS 

Stainless Steel  
40-8571005 Description Qty. 

1 40-2562820 Vault Hinge Top Pilaster  1 

2 40-2562830 Vault Hinge Top Door Side 1 

3 40-2562850 Vault Hinge 1 

4 40-2562840 Vault Hinge Bottom Pilaster 1 

5 40-2563900 Slide latch Brushed Finish 1 

6 40-2563900 Inswing Keeper Brushed 1 

7 40-2561600 Bumper and Coat Hook 1 

8 40-3260600 Tamper Resistant S/S Step Bolts #10-24 x 1” 10 

9 40-3260750 Tamper Resistant S/S Step Bolts #10-24 x 3/4” 1 

10 40-3260590 Tamper Resistant S/S barrel Nut #10-24 x 1/2’ 10 

11 40-3262130 Tamper Resistant S/S #10-24 x 5/8” 2 

12 40-3260690 Tamper Resistant S/S Barrel Nut #10-24 x 5/8” 1 

2 

1 

6 4 
3 

8 

11 

9 

10 

5 

7 

12 

HOME 
Page 9 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Aluminum 
40-8441007 Description Qty. 

1 40-2511600 Coat Hook Chrome 1 

2 40-2442307 Inswing Keeper with Bumper 6” 1 

3 40-2443710 Extruded Hinge Casing 4 

4 40-3083700 Bottom Hinge Lower Insert 1 

5 40-3083701 Hinge Upper Insert 2 

6 40-3083702 Top Hinge Lower Insert 1 

7 40-2283700 Stainless Steel Pin 2 

8 40-2443890 Latch Assembley 1 

9 40-3260590 1/2” Nut S/S 21 

10 40-3260600 1” Bolt S/S 21 

11 40-3262130 Screws #10 x 5/8” S/S 2 

12 40-3260110 Screws #10 x 1” S/S Flat Head 4 

8” WRAP AROUND - INSWING DOOR KIT 
 SOLID POLYMER PARTITIONS 

HOME 

3 

4 
5 

2 

12 11 
10 

9 

8 

1 7 

Page 10 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Aluminum 
40- 8441008 Description Qty. 

1 40-2511600 Coat Hook Chrome 1 

2 40-2511700 Door Pull Chrome 1 

3 40-2511710 Bumper Chrome 1 

4 40-2442308 Outswing Keeper with Bumper 6” 1 

5 40-2443710 Extruded Hinge Casing 6 

6 40-3083700 Bottom Hinge Lower Insert 1 

7 40-3083701 Hinge Upper Insert 3 

8 40-3083702 Top / Middle Hinge Lower Insert 2 

9 40-2283700 Stainless Steel Pin 3 

10 40-2443890 Latch Assembly 1 

11 40-3260590 1/2” Nut S/S 27 

12 40-3260600 1” Bolt S/S 27 

13 40-3262130 Screws #10 x 5/8” S/S 4 

14 40-3260700 1-1/4” Bolt S/S 2 

15 40-3260110 Flat Head Screws #10 x 1” S/S 6 

8” WRAP AROUND - OUTSWING DOOR KIT 
 SOLID POLYMER PARTITIONS 

HOME 

3 

14 

12 

11 13 

15 

2 

10 

5 

6 
7 

9 

4 

1 

Page 11 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



INSWING - DOOR HARDWARE KIT  
SOLID POLYMER PARTITIONS 

Stainless Steel 
40- 8571007 Description Qty. 

1 40-2562802 Vault Hinge Top Pilaster Side 1 

2 40-2562830 Vault Hinge Top Door Side 1 

3 40-2562850 Vault Hinge Bottom Door Side 1 

4 40-2562840 Vault Hinge Bottom Pilaster Side 1 

5 40-2562640 In-Swing Keeper Brushed 1 

6 40-2561600 Bumper and Coat Hook 1 

7 40-3260600 Theft Resistant S/S Step Bolts #10-24 x 1” 11 

8 40-3260590 Theft Resistant S/S Barrel nut #10-24 x 1/2” 10 

9 40-3262130 Theft Resistant S/S #10 x 5/8” 2 

10 40-3260690 Theft Resistant S/S Barrel Nut #10-24 x5/8” 1 

11 40-2563900 Slide Latch Brushed Finish 1 

10 8 

7 

9 

11 

1 

6 

4 

3 5 

2 

HOME 
Page 12 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



1 

6 

10 

5 

8 

13 11 

7 

12 9 

2 

14 

3 

4 

OUTSWING -  DOOR HARDWARE KIT 
 SOLID POLYMER PARTITIONS 

Stainless Steel 
40-8571008 Description Qty. 

1 40-2562802 Vault Hinge Top Pilaster Side 1 

2 40-2562830 Vault Hinge Top Door Side 1 

3 40-2562850 Vault Hinge Bottom Door Side 1 

4 40-2562840 Vault Hinge Bottom Pilaster Side 1 

5 40-2563900 Slide Latch Brushed Finish 1 

6 40-2562740 Out-Swing Slide Latch Brushed Finish 1 

7 40-2511700 Door Pull 1 

8 40-3260700 Theft Resistant S/S Step Bolts #10-24 x 1-1/4” 2 

9 40-2561600 Bumper and Coat Hook 1 

10 40-3260600 Theft Resistant S/S Step Bolts #10-24 x 1” 8 

11 40-3260590 Theft Resistant S/S Barrel Nut #10-24 x 1/2” 8 

12 40-3262130 Theft Resistant S/S #10 x 5/8” 4 

13 40-3260690 Theft Resistant S/S Barrel Nut #10-24 x 5/8” 1 

14 40-2511710 Bumper 1 

HOME 
Page 13 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



HEADRAIL HARDWARE KIT ( HR-1 KIT ) 

HR - 1 Kit 
50-8448100 Description Qty. 

1 50-2512150 Head Rail Satin “F” Zamac Bracket 2 

2 50-2512170 Head Rail Cap Satin Zamac 1 

3 50-3260441 Theft Resistant S/S #12 x 2-1/2” S.M.S. 2 

4 50-3080000 Plastic Shield 10/12 x 1” 2 

5 50-3264120 Theft Resistant S/S #14 x 5/8” S.M.S. 4 

2 

1 

3 
4 

5 

HOME 
Page 14 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK # 1  
 POWDER COATED STEEL/ STAINLESS STEEL PARTITIONS 

MOUNTING STYLE - FM/OB 

Zamac  
50-8515211

Stainless Steel  
50-8265211 Description Qty. 

1 50-2511840 50-2261840 One Ear 1-1/4” Wall Bracket 2 

2 50-3980441 50-3260441 Theft Resistant #12 x 2 -1/2” S.M.S. 6 

3 50-3081000 50-3081000 Plastic Shield 6 

4 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S. 7 

5 50-2512150 50-2512150 Headrail “F”  Bracket - Aluminum 1 

2 

5 

1 

3 

4 

HOME 
Page 15 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #1A  
 POWDER COATED STEEL / STAINLESS STEEL PARTITONS 

USED WITH 2’’ PILASTER 
MOUNTING STYLE - FM/OB 

Zamac  
50-8515212

Stainless Steel  
50-8265212 Description Qty. 

1 50-2511845 50-2261853 One Ear 1-1/4” Wall Bracket Short 2 

2 50-3081000 50-3081000 Anchor 10 - 12 x 1 6 

3 50-3980441 50-3260441 Screw 12 x 2 -1/2” S.M.S. T-25 6 

4 50-3984120 50-3264120 Screw 14 x 5/8” T-25. 7 

5 50-2512150 50-2512150 Headrail “F”  Bracket - Aluminum 1 

2 

4 

3 

5 

1 

HOME 
Page 16 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #1A MINI  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

USED WITH 1-1/4’’ POST 
MOUNTING STYLE - FM/OB 

Zamac  
50-8515215

Description  Qty. 

1 50-2511850 One Ear 1-1/4” Wall Bracket Short Mini 2 

2 50-3081000 Anchor 10 - 12 x 1 6 

3 50-3980441 Screw 12 x 1-1/2” S.M.S. T-25 6 

4 50-3984120 Screw 14 x 5/8” T-25. 7 

5 50-2512150 Headrail “F”  Bracket - Aluminum 1 

3 

2 

4 

5 

1 

HOME 
Page 17 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #2  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

MOUNTING STYLE - FM/OB  

Zamac  
50-8515021

Stainless Steel 
50-8265021 Description Qty. 

1 50-2511750 50-2261750 Two Ear 1” Bracket 2 

2 50-2511910 50-2261910 “U” Bracket 2 

3 50-3980441 50-3260441 Theft Resistant #12 x 2 -1/2” S.M.S. 4 

4 50-3081000 50-3081000 Plastic Shields 4 

5 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S 14 

1 

2 

3 
4 

5 

HOME 
Page 18 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #3 
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

MOUNTING STYLE - FM/OB  

Zamac  
50-8515011

Stainless Steel 
50-8265011 Description Qty. 

1 50-2511760 50-2261760 One Ear 1” Bracket 2 

2 50-2511910 50-2261910 “U” Bracket 2 

3 50-3980441 50-3260441 Theft Resistant #12 x 2 -1/2” S.M.S. 6 

4 50-3081000 50-3081000 Plastic Shields 6 

5 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S 18 

6 50-2512150 50-2512150 Headrail “F” Bracket - Aluminum 2 

7 50-2512170 50-2512170 Headrail End Cap - Aluminum 1 

4 

3 5 

6 

7 

2 

1 

HOME 
Page 19 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #4 
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

MOUNTING STYLE - FM/OB 

Zamac  
50-8517011

Stainless Steel  
50-8267011 Description Qty. 

1 50-2511840 50-2261840 One Ear 1-1/4” Wall Bracket 2 

2 50-3980441 50-3260441 Theft Resistant #12 x 2-1/2” S.M.S. 16 

3 50-3081000 50-3081000 Plastic Shields 12 

4 50-3984120 50-3264120  Theft Resistant  #14 x 5/8” S.M.S. 14 

5 50-2511950 50-2511950 Alcove “L” Bracket 2 

6 50-2511760 50-2261760 One Ear 1” Wall Bracket 2 

7 50-2512150 50-2512150 Headrail “F” Bracket - Aluminum 2 

4 

2 

3 

7 

5 

6 

1 

HOME 
Page 20 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #5  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

MOUNTING STYLES - FM , CH, FC   

Zamac  
50-8515213

Stainless Steel  
50-8265213 Description Qty. 

1 50-2511840 50-2261840 One Ear 1-1/4” Wall Bracket 2 

2 50-3980441 50-3260441 Theft Resistant #12 x 2-1/2” S.M.S. 4 

3 50-3081000 50-3081000 Plastic Shield 4 

4 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S. 4 

2 

4 

3 

1 

HOME 
Page 21 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #6  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

MOUNTING STYLES - FM, CH, FC  

Zamac  
50-8515023

Stainless Steel 
50-8265023 Description Qty. 

1 50-2511750 50-2261750 Two Ear 1” Bracket 2 

2 50-2511910 50-2261910 “U” Bracket 2 

3 50-3081000 50-3081000 Plastic Shield 4 

4 50-3980441 50-3260441 Theft Resistant #12 x 2-1/2” S.M.S. 4 

5 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S. 12 

4 
3 

5 

2 

1 

HOME 
Page 22 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #7  
 POWDER COATED STEEL / STAINLESS STEEL PARTITION  

MOUNTING STYLES - FM, CH, FC  

Zamac 
50-8515013

Stainless Steel 
50-8265013 Description Qty. 

1 50-2511760 50-2261760 One Ear 1” Bracket 2 

2 50-2511910 50-2261910 “U” Bracket 2 

3 50-3081000 50-3081000 Plastic Shield 4 

4 50-3980441 50-3260441 Theft Resistant #12 x 2-1/2” S.M.S. 4 

5 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S. 12 

5 

4 

3 

2 

1 

HOME 
Page 34 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #9  
 POWDER COATED STEEL / STAINLESS STEEL PARTITIONS 

URINAL SCREEN BRACKETS  

Zamac  
50-8511280

Stainless Steel  
50-8261280 Description Qty. 

1 50-2511280 50-2261280 Two Ear Wall U/S Bracket 2 

2 50-3984120 50-3264120 Theft Resistant #14 x 5/8” S.M.S. 8 

3 50-3081000 50-3081000 Plastic Shield 4 

4 50-3980441 50-3260441 Theft Resistant #12 x 2-1/2” S.M.S. 4 

1 

3 

4 2 

HOME 
Page 24 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #1  
 PLASTIC LAMINATE PARTITIONS  

MOUNTING STYLES - ALL 

Zamac  
40-8515210

Stainless Steel 
40-8265211 Description Qty. 

1 40-2511840 40-2261840 One Ear 1-1/4” Wall Bracket 2 

2 40-3910450 40-3260450 Theft resistant  #14 x 2-1/2” S.M.S. 4 

3 40-3080000 40-3080000 Plastic Shields  4 

4 40-3914120 40-3264120 Theft Resistant  #14 x 5/8” S.M.S. 4 

5 40-3910700 40-3260700 Theft Resistant  Step Bolts 1-1/4” Long 2 

6 40-3910690 40-3260690 Theft Resistant  Barrel Nut 2 

6 
3 

2 

4 

1 

5 

HOME 
Page 25 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Zamac  
40-8515020

Stainless Steel 
40-8265021 Description Qty. 

1 40-2511750 40-2261750 Two Ear 1” Bracket 2 

2 40-2511910 40-2261910 “U” Bracket 2 

3 40-3910600 40-3260600 Theft Resistant Step Bolts 1” Long 4 

4 40-3910690 40-3260450 Theft Resistant 5/8” Barrel Nut 4 

5 40-3910450 40-3260450 Theft Resistant  #14 x 2-1/2” S.M.S. 4 

6 40-3080000 40-3080000 Plastic Shield 4 

7 40-3914120 40-3264120 Theft Resistant  #14 x 5/8” S.M.S. 8 

PRE-PACK #2  
 PLASTIC LAMINATE PARTITIONS  

MOUNTING STYLES - ALL 

5 

3 

4 

6 

7 

2 

1 

HOME 
Page 26 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Zamac  
40-8515010

Stainless Steel  
40-8265011 Description Qty. 

1 40-2511760 40-2261760 One Ear 1” Bracket 2 

2 40-2511910 40-2261910 “U” Bracket 2 

3 40-3910600 40-3260600 Theft Resistant Step Bolts 1” Long 4 

4 40-3910690 40-3260690 Theft Resistant 5/8” Barrel Nut 4 

5 40-3910450 40-3260450 Theft Resistant #14 x 2-1/2” S.M.S. 4 

6 40-308000 40-3080000 Plastic Shields  4 

7 40-3914120 40-3264120 Theft Resistant  #14 x 5/8” S.M.S. 8 

PRE-PACK #3  
 PLASTIC LAMINATE PARTITIONS  

MOUNTING STYLES - ALL 

5 

3 6 

4 

1 

2 

7 

HOME 
Page 27 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



Zamac  
40-8517310

Stainless Steel 
40-8267311 Description Qty. 

1 40-2511840 40-2261840 One Ear Wall Bracket 1-1/4” 2 

2 40-3910700 40-3260700 Theft Resistant Step Bolts #10-24 x 1-1/4” 2 

3 40-3910690 40-3260690 Theft Resistant Barrel Nut 4 

4 40-3910450 40-3260450 Theft Resistant #14 x 2-1/2” S.M.S. 10 

5 40-3080000 40-3080000 Plastic Shields 10 

6 40-3914120 40-3264120 Theft Resistant #14 x 5/8” S.M.S. 4 

7 40-2511950 40-2511950 Alcove Clip 2 

8 40-2511760 40-2261760 One Ear Wall Bracket 1” 2 

9 40-3910100 40-3260100 Theft Resistant #10 x 1” S.M.S. 4 

10 40-3910600 40-3260600 Theft Resistant Step Bolts #10-24 x 1” 2 

11 40-2521980 40-2521980 Bracket Headrail Satin “F” Aluminum 1 

PRE-PACK #4  
 PLASTIC LAMINATE PARTITIONS  

MOUNTING STYLES - ALL 

HOME 

7 10 

11 

6 

8 

1 

2 

5 

9 

3 

4 

Page 28 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #9  
PLASTIC LAMINATE PARTITONS 

URINAL SCREEN BRACKETS  

Zamac 
40-8511281

Description  Qty. 

1 40-2511280 Two Ear 1” Bracket 2 

2 40-3914120 Theft Resistant #14 x 5/8” S.M.S. 8 

3 40-3910450 Theft Resistant #14 x 2-1/2” S.M.S. 4 

4 40-3080000 Plastic Shields 4 

1 

4 

2 

3 

HOME 
Page 29 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #1  
 PHENOLIC CORE PARTITIONS 

MOUNTING STYLES - ALL 

Stainless Steel  
40-8275210 Description Qty. 

1 40-2271740 Stainless Steel One Ear Wall Bracket 3/4”  2 

2 40-3260750 Theft Resistant S/S Step Bolts 3/4”  2 

3 40-3260590 Theft Resistant S/S Barrel Nut 6 

4 40-3260450 Theft Resistant S/S #14 x 2-1/2” S.M.S. 4 

5 40-3080000 Plastic Shields 4 

6 40-3260500 Theft Resistant S/S Step Bolts 1/2”  4 

2 

3 

6 

5 

4 

1 

HOME 
Page 30 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #2  
 PHENOLIC CORE PARTITIONS 

MOUNTING STYLES - ALL 

Stainless Steel  
40-8275020 Description Qty. 

1 40-2271750 Stainless Steel Two Ear Wall Bracket 1/2”  2 

2 40-2271910 Stainless Steel “U” Bracket 2 

3 40-3260500 Theft Resistant S/S Step Bolts 1/2” 4 

4 40-3260490 Theft Resistant S/S Barrel Nut 4 

5 40-3260450 Theft Resistant S/S #14 x 2-1/2” S.M.S. 4 

6 40-3080000 Plastic Shields 4 

7 40-3264320 Theft Resistant S/S  #14 x 3/4” S.M.S. 4 

7 

6 
5 

4 

3 

2 

1 

HOME 
Page 31 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #3 
 PHENOLIC CORE PARTITIONS 

MOUNTING STYLES - ALL  

Stainless Steel  
40-8275010 Description Qty. 

1 40-2271760 Stainless Steel One Ear Wall Bracket 1/2”  2 

2 40-2271910 Stainless Steel “U” Bracket 2 

3 40-3260500 Theft Resistant S/S Step Bolts 1/2” 4 

4 40-3260490 Theft Resistant S/S Barrel Nut 4 

5 40-3260450 Theft Resistant S/S #14 x 2-1/2” S.M.S. 4 

6 40-3080000 Plastic Shields 4 

7 40-3264320 Theft Resistant S/S  #14 x 3/4” S.M.S. 4 

4 

7 

6 

5 

2 

1 

3 

HOME 
Page 32 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #4 
 PHENOLIC CORE PARTITIONS 

MOUNTING STYLES - ALL 

Stainless Steel 
40-8277010 Description Qty. 

1 40-2271740 Stainless Steel One Ear Wall Bracket 3/4” 2 

2 40-3260750 Theft Resistant S/S Step Bolts 3/4”  4 

3 40-3260490 Theft Resistant S/S Barrel Nut 8 

4 40-3260450 Theft Resistant S/S #14 x 2-1/2” S.M.S. 10 

5 40-308000 Plastic Shields 10 

6 40-3264320 Theft Resistant S/S 3/4”  3 

7 40-2278340 Alcove Clip 4 

8 40-2271760 Stainless Steel One Ear Wall Bracket 1/2” 2 

9 40-3260500 Theft Resistant S/S Step Bolts 1/2”  4 

10 40-2521980 Bracket Headrail Satin “F” Zamac 1 

www.

10 

7 

3 

9 2 

5 

8 1 

6 

4 

HOME 
Page 33 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PRE-PACK #9  
 PHENOLIC CORE PARTITIONS 

URINAL SCREEN BRACKETS  

Stainless Steel 
40-8271480 Description Qty. 

1 40-5271320 Stainless Steel Wall Angle Bracket 4 

2 40-3260450 Theft Resistant S/S #14 x 2-1/2” S.M.S. 4 

3 40-3080000 Plastic Shields 4 

4 40-3260500 Theft Resistant S/S Step Bolts 1/2” 4 

5 40-3260490 Theft Resistant S/S Barrel Nut 4 

3 

4 

2 

5 

1 

HOME 
Page 34 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



CB - 1 KIT  ( 5” - 24” Pilasters shown ) 
MOUNTING STYLE -  CEILING HUNG  

MATERIAL TYPE -  POWDER COATED STEEL / STAINLESS STEEL   

3” - 4” Pilaster 
50-8988181 Qty. 5” - 24” Pilaster 

50-8988180 Qty. Description  

1 50-3980060 1 50-3980060 2 3/8 - 16 x 6 Threaded Rod 

2 50-3982390 2 50-3982390 4 7/ 16 x 1 x 5/16 Heavy  Washer 

3 50-3981160 2 50-3981160 4 3/8 - 16 x 23/64 Heavy  Hex Nut 

3 

2 

1 

HOME 
Page 35 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



CB - 2 KIT  ( 5” - 24” Pilasters shown ) 
MOUNTING STYLE -  CEILING HUNG  

MATERIAL TYPE -  POWDER COATED STEEL / STAINLESS STEEL   

3” - 4” Pilaster 
50-8988211 Qty. 5” - 24” Pilaster 

50-8988210 Qty. Description  

1 50-3980760 1 50-3980760 2 Nut Spacer 

2 50-3982390 3 50-3982390 6 7/ 16 x 1 x 5/16 Heavy  Washer 

3 50-3980960 4 50-3980960 8 3/8 - 16 x 21/64 Heavy  Hex Nut 

4 50-6189000 1 50-6189000 2 Trim Clip 

4 

1 

3 

2 

HOME 
Page 36 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PILASTER FLOOR MOUNTING KIT 
MOUNTING STYLE - FLOOR MOUNTED/ OVERHEAD BRACED  

MATERIAL TYPE - POWDER COATED STEEL / STAINLESS STEEL  

Pilsater Sizes 
2” - 24” Description Qty. 

1 50-6910XX0 Floor Fork 1 

2 50-3980441 Theft Resistant #12 x 1-1/2” S.M.S. 2 

3 50-3081000 Plastic Shield 2 

4 50-3984120 Theft Resistant #14 x 5/8” S.M.S. 2 

5 50-6189000 Trim Clip 2 

2 

4 

5 

1 

3 

HOME 
Page 37 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



PILASTER MOUNTING KIT   
MOUNTING STYLE - FLOOR MOUNT  

MATERIAL TYPE - ALL  

50-8983021 Description Qty. 

1 50-3980050 Hilti - Anchor 3/8 - 16 x 5 2 

2 50-6189000 Trim Clip 2 

3 50-3980960 Nut Small 6 

4 50-3980760 Nut Spacer ( Not used with PL, PH, SP ) 2 

5 50-3982380 Washer Small 4 

5 

4 

3 

1 
2 

HOME 
Page 38 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



HEADRAIL ANODIZED ALUMINUM 

LENGTH PHENOIC 
3/4” 

POLYMER 
1” 

PLASTIC LAMINATE 
1-1/4”

POWDER COATED, STAINLESS STEEL 
1-1/4”

62” — — — 50-5430620

75” 40-5450750 40-5460750 40-5440750 50-5430750

98” — — — 50-5430980

120” 40-5451200 40-5461200 40-5441200 50-5431200

HOME 
Page 39 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



FLAT STRIKE KIT 
MATERIAL TYPE - POWDER COATED STEEL / STAINLESS STEEL 

Zamac 
50-8513100

Stainless Steel  
50-8263100 Description  Qty. 

1 50-2515290 50-2265293 S/K Flat Stop 1 

2 50-3081000 50-3081000 Plastic Anchors 2 

3 50-3911150 50-3911150  10 x 1-1/2 Flat Head Screws 2 

4 50-3910110 50-3910110 10 x 1 Flat Head Screws 2 

4 

1 

3 

2 

HOME 
Page 40 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 



POST SHOE AND END CAP 

1-3/4” - Kit
50-8512510

1-1/4” - Kit
50-8512250 Description  Qty. 

1 50-5512250 50-5512250 Post Shoe 1 

2 50-5516500 — 1-3/4 End Cap 1 

3 50-3081000 50-3081000 Plastic Anchors 2 

4 50-3980441 50-3980441 Theft Resistant #12 x 2-1/2” S.M.S. 2 

2 

3 

1 

4 

HOME 
Page 41 of 41 Rev. 06/13

160 Tower Drive
Burr Ridge, IL 60527 
Telephone: 708.442.6800 
Fax: 708.442.7439 
www.asi-accuratepartitions.com 




